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3.14 is only an approximation and
therefore not the same as all values
of
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Verbally: Verbally:
The solution set is all real numbers that do not include 3. The solution set is all real numbers that are less than or equal to 14.
Graphically: Graphically:
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Verbally: verbally:

The solution set is the set of all real numbers

Graphically:
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SetNotation:
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The solution set is the null set.
Graphically:
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a) What population did the bacteria start with?

It takes three hours to double the population. If we start at
doesn't happen till it hits 3 hours.

12) The population of a certain bacteria grows over time as shown in the graph below.

Independent Vanable X ﬂ .
= time in hours (hours) '
3 20
Dependent Vanable 6 40
¥ = population in thousands of bacteria 10 100
10.7 120

There were 10,000 bacteria to start.

b) Howlong does it take for the population of bacteria to double? Justify.

10,000 bacteria, to double it we need to get to 20,000 bacteria and that




